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1. CHOOSE the correct answer from the following alternative

:A coin is tossed 10 times. The probability of getting head

6times is
1
10
A C5o F
1
B 10C3. S


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4eLbrGlb6RjC

Answer:

° Watch Video Solution

2. CHOOSE the correct answer from the following alternative
: the rate of incrse of a side of a square is 1cm/sec. the rate

of increase of area of the square, when length os a side of

the squareis 2 cm, is -

4em?
sec

8cm?
sec

lem?
sec



https://dl.doubtnut.com/l/_4eLbrGlb6RjC
https://dl.doubtnut.com/l/_dpgdb59xWtrK

2cem?

sec

Answer:

° Watch Video Solution

3. CHOOSE the correct answer from the following alternative

: the angles between the two planes x-y+2z=9 and 2x+y+z=7

is -

A.30°

B.40°

C.80°

D. 60°

Answer:


https://dl.doubtnut.com/l/_dpgdb59xWtrK
https://dl.doubtnut.com/l/_CEsDxqGkPWq2

° Watch Video Solution

4. CHOOSE the correct answer from the following alternative
:if two rows or two columns of a determinant are identical

then value of the determinant is

A.O

B.2

D.1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_CEsDxqGkPWq2
https://dl.doubtnut.com/l/_TErcUYRspp6R

5. CHOOSE the correct answer from the following alternative

3 4 2
:P(A) = F’P(B) ks and P(ANB) = 3 then the

value of P(A/B) is equal to-

D. 44443

Answer:

° Watch Video Solution

6. CHOOSE the correct answer from the following alternative

73 (1 _
: the value of tan 5 = tan 3 is equal to-


https://dl.doubtnut.com/l/_8EwQfd0eAZCV
https://dl.doubtnut.com/l/_YQwH0vEesegr
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O
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Answer:

° Watch Video Solution

7. CHOOSE the correct answer from the following alternative
a
:if f(x)=-f(-x), then the value of/ f(x)dzis equal to
—a
A. 2a
B.a

C.a/2



https://dl.doubtnut.com/l/_YQwH0vEesegr
https://dl.doubtnut.com/l/_UbOuxJk02Z3c

D.O

Answer:

° Watch Video Solution

8. The value of A for which the vectors @ = i + 33 — k and

— A N
b = 21 + 67 + Ak are parallel is

A3



https://dl.doubtnut.com/l/_UbOuxJk02Z3c
https://dl.doubtnut.com/l/_qwMJRGKLIyRP
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9. CHOOSE the correct answer from the following alternative
. the domain for which the functions f(x)=3z> — 2z and
g(x)=3(3x-2) are equal, will be -

A. {1,2/3}

B. {1,3}

C.{2/3,3}

D. {2/3,0}

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qwMJRGKLIyRP
https://dl.doubtnut.com/l/_bUkL5bmzWQYy

10. CHOOSE the correct answer from the following

S—x
alternative :if y=tan

. , then the vlaue of dy/dx-

1+ x2
C.5

5
D.
1+ z2

Answer:

° Watch Video Solution

1. 1. (@) ANSWER any one question: 1. solve

1 1

2sin” "x = cos " x.

I ° Watch Video Solution


https://dl.doubtnut.com/l/_ojYr8QRSduds
https://dl.doubtnut.com/l/_zstdMKJhOXdx

12. ANSWER any one question: 2. let A={1,2,3,}. Define a

relation (on A) which is reflexive and symmetric but not

transitive.

o Watch Video Solution

8 0
13. (b) answer any one question:1. A= [4 _2] and B=

2 =2
[ - ] , find another matrix X where 2A+3X=5B.

° Watch Video Solution

: 12 3 x 3
14. answer any one question : 2. if = , find
4 5 2z 5

the value of x.


https://dl.doubtnut.com/l/_zstdMKJhOXdx
https://dl.doubtnut.com/l/_agoIKWah9T4A
https://dl.doubtnut.com/l/_aWYNwcNIFNhT
https://dl.doubtnut.com/l/_mEu1C416CGQr

o Watch Video Solution

2z
15. (c)answer any three questions: 1. if y=sin_1( ) ,

find dy/dx.

° Watch Video Solution

16. answer any three questions :2. f(x)=5 -|x-1|: find the
maximum value of f(x), also find the value of x for which f(x)

is maximum.

o Watch Video Solution



https://dl.doubtnut.com/l/_mEu1C416CGQr
https://dl.doubtnut.com/l/_BksqPRE4m5y6
https://dl.doubtnut.com/l/_FFiLwWcbomrN

17. answer any three questions: 3.if x>0, then show that

log(1+x) > x/(1+x).

° Watch Video Solution

18. Find the differential equation of all circles which touch

the x-axis at the origin.

o Watch Video Solution

19. answer any three questions:5. if f(2)=4,f'(2)=4, then

. zf(2) —2f(z)
evaluate lim
r—2 r — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_FiSo6tfxpOOV
https://dl.doubtnut.com/l/_htSaJzELPipD
https://dl.doubtnut.com/l/_vEvbSVji4WrM
https://dl.doubtnut.com/l/_u5i4ZwBCHDqt

20. answer any three questions:6. evaluate

/2 rdx
1 (z+1)(z +2)

o Watch Video Solution

21. show that A(2,3,-4),B (1,-2,3) and C(3,8,-11) are collinear.

o Watch Video Solution

~ ~ ~ — N R ~
22.if d =5i —j—3kand b =i +3j—5k,Find a .

%
b =2

o Watch Video Solution



https://dl.doubtnut.com/l/_u5i4ZwBCHDqt
https://dl.doubtnut.com/l/_FYjbZixsvz5F
https://dl.doubtnut.com/l/_2VXG7cG3lAS5

23. (e)ANSWER ANY one question : 1. if P(A) =a and P(B)=b,

then show that P(A/B) < a/b

° Watch Video Solution

24. if a and b are any two constants, then prove that

Var(aX +b) = a’Var(X).

o Watch Video Solution

25.

™ =
if tan_1x+tan_1y+tan_1z: B and  +y+ 2z =+/3

, then show that x=y=z.

o Watch Video Solution



https://dl.doubtnut.com/l/_W25QSha2V3vf
https://dl.doubtnut.com/l/_WE6ZlBQSyerd
https://dl.doubtnut.com/l/_sMc22trsB71T

26. (b) answer the following questions: 1.if A =

then show that A2 — 44 — 5I; = 0

Answer:

N N

N = N

=N N

° Watch Video Solution



https://dl.doubtnut.com/l/_sMc22trsB71T
https://dl.doubtnut.com/l/_TpLN9fKDTfEv

27.if AB = [ Z.

1
. ], then show
—1 1 1

that A% = 128B

o Watch Video Solution

28. Answer the foll. Question : 2show that
1 1 1

e 1 1 1

1 1+4b 1 |=abc 1+E+3+E ,(abc # 0)
1 1 1+4+c

o Watch Video Solution

29. if cos y=x cos (a+y), (a # 0) , then show that

dy  cos’(a +y)

dz sina

o Watch Video Solution



https://dl.doubtnut.com/l/_nvbynryziXgp
https://dl.doubtnut.com/l/_Td9zzkOsHUkO
https://dl.doubtnut.com/l/_7TURIm924Np0

30. answer the foll. Questions 2. evaluate : /\/1 + secxdz.

o Watch Video Solution

dx
31. or, evaluate :/

(z-1)+ v -1

o Watch Video Solution

32. answer the foll. Questions 3. solve

(e + 1)ydy — (y2 + 1)e"dz = 0, given x=0, y=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_7TURIm924Np0
https://dl.doubtnut.com/l/_5Tgs8TQ68bt0
https://dl.doubtnut.com/l/_aaogRnxkL4Yd
https://dl.doubtnut.com/l/_apgU0itQCneF

33. (d) answer ANY one question :1. &,5 and cbe three

and

SN
_|_
ol
I
o

vectors such that a+

.@ |

la] = 1, 'E‘ — 4, |¢| = 2.Evlautae a. b + b.

al
_|_
Ql

° Watch Video Solution

34. answer any one question 2. if sum of two unit vectors be

a unit vector , then show that diff. of those two vwctros is

J3.

° Watch Video Solution

35. (e)answer any one question : 1. using integral calculus ,

22 yz
find the area of > + T = 1.

[ e |


https://dl.doubtnut.com/l/_92tFcp7ZrJHF
https://dl.doubtnut.com/l/_imaNju7Nf1Mj
https://dl.doubtnut.com/l/_aONNjdoJS7sP

[ W Watch Video Solution ]

36. answer any one question 2. prove that

/3 dz 2+1 (z)
—_— = O J—
1 z3(z+1) 3 *\3

° Watch Video Solution

37.answer any one question : 2.eight unbiased coins tossed .

Find the probability of getting exactly five heads

o Watch Video Solution

38. answer any two questions :2.solve (1—|—:1:2)dy+2xy

dx=cot x dx.

[ O WAL _L vl e~_ 1.0 |


https://dl.doubtnut.com/l/_aONNjdoJS7sP
https://dl.doubtnut.com/l/_zrXqIiqlNNeP
https://dl.doubtnut.com/l/_M1d1FhUZzvVd
https://dl.doubtnut.com/l/_I311qpRciwBU
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39. answer any two questions 4. evaluate

1 n n 1
nlinoo 2 2+ 2 2++%
n* +1 n* + 2

° Watch Video Solution

40. ©answer any one question : 1find the equation of the
plane which passes thrpugh (-2,1,3) and also through the

intersection of the planes 2x-7y+4z =0 and 3x-5y+4z+11=0

o Watch Video Solution



https://dl.doubtnut.com/l/_I311qpRciwBU
https://dl.doubtnut.com/l/_NAg7Y6VVlpXl
https://dl.doubtnut.com/l/_JvCNyZYYGpsz

